Potencias de 10 (I)

251073

261073

48 = 1073

85+1073

21 =103

611073

93 +1073

271073

92 +1073

55+1073

Calcule los siguientes cocientes.

54107

941073

82103

941073

261073

78 =103

72+1073

96+ 1073

771073

89+1073
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Potencias de 10 (I) Respuestas

25+1073
25,000
261073
26,000
48 1073
48,000
85+103
85,000
21+1073
21,000
61+103
61,000
931073
93,000
27+1073
27,000
92+1073
92,000
55+1073
55,000

Calcule los siguientes cocientes.

541073
54,000
94 +1073
94,000
821073
82,000
94 =103
94,000
261073
26,000
78 1073
78,000
72+1073
72,000
961073
96,000
771073
77,000
891073
89,000
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